LANMBJD104

Installation Instructions

Monitor Bracket Riser Mount for 2020+ JD tractor & Sprayer Cabs

LANKOTA

270 West Park Avenue
Huron, SD 57350
866-526-5682

Page | 1 4/5/2023 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.



Parts List

4 N
Part Numbers Description Qty
LANMBJD104W Riser Mount 1
LAN19M7784 M10 x 20mm Flange Bolt 2
LANMBJDO41 Offset Plate, Corner Cubby 2
LAN18A 3/8” x 1” Carriage Bolt 2
LAN3718 3/8” Serrated Flange Nut 2

\ >

LAN19M7784 (2) LANMBJD041 (2)

LANMBJD104W (1) LAN18A (2) LAN3718 (2)

- 4/5/2023 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.



Kit Installation

Remove the factory cap/plugs from the bottom, corner thread-points.

Install an M10 bolt on the lower orifice.

Slide the LANMBJD104W slot over the bolt and fasten with another in the

upper hole. Tighten these bolts.

Install an M10 bolt on the lower threaded hole of the riser. - e
Set the corner cubby over the bolt and fasten with another in the upper hole. ~ / g

|
I\ m”‘f; |
it

Tighten all the bolts. 7 il H Ay
I“w | ‘ ‘m (A

John Deere and JD are registered trademarks of Deere & Company.

Page | 3 4/5/2023 www.lankota.com | Lankota Inc.
Lankota is a registered trademark of Lankota Group.




Kit Installation (Optional)

(

"u

i il 1!“ m ‘.
Ll

-4/5/2023 www.lankota.com | Lankota Inc.

In some tractors, with some monitors, it may be necessary to extend
a mount or corner cubby a little. To do so, this kits includes two off
set plates (LANMBIJF041).

Use the provided 3/8” hardware to mount them wherever they may
be needed.

‘
| m", ({114
‘ “H‘l 1\
‘ |

()
ll

L

\

For further technical assistance,
Call Lankota Inc. at:

1-866-526-5682
\ J

John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.



